CSC221: Base64 Convertor Quiz Practice
1. Assuming the file input. txt contains:
ACC totally rocks!

What would be the output generated by a Base64 encoding program with input.txt as the
input file?

2. Assuming the file encoded_message. txt contains:
VGhpcyBpcyBhIHRIc3QuCg==

What would be the output generated by a Base64 decoding program with encoded_message. txt
as the input file?

3. Loading the image file kittens. jpg in a hex editor reveals that the first 9 bytes of the file
contain:

FF D8 FF DB 00 43 00 06 06

What is the RFC 4648 encoding of these 9 bytes?



BASE 64 DIGITS

Value Encoding Value Encoding Value Encoding Value Encoding
2 A 17 R 34 1 51 z
1B 18 S 35 ] 52 0
2 C 19 T 36 k 53 1
3D 20 U 37 1 54 2
4 E 21V 38 m 55 3
5F 22 W 39 n 56 4
6 G 23 X 40 o 57 5
7 H 24 Y 41 p 58 6
81 25 1 42 g 59 7
9 J 26 a 43 1 6@ 8

10 K 27 b 44 s 61 9
1L 28 ¢ 45 t 62 +
12 M 29 d 46 u 63 /
13 N 30 e 47 v
14 0 31 f 48 w (pad) =
15 P 32 g 49 x
16 Q 33 h 50 vy

ASCII TABLE

T e e e A ey

NUL 10 DLE
01 SOH 1 DC1 21 ! 311 41 A 51 Q 81 a 7 q
02 STX 122 DC2 22 " 32 |2 2 B 52 R 62 b 2 r
03 ETX 13 DC3 23 # 33 3 43 C 53 'S 83 | C 73 s
04 EOT 14 DC4 24 $ 34 4 4 D 54 T 64 d 74t
05 ENQI/15 NAK 25 % 35 5 5 E 5 U 65 @ 75 U
06 ACK 16 SYN 28 & 36 6 % F 56 66 f 7% Vv
oz BEL 1 ETB 27 37 7 7 G 517. W 67 g 7w
08 BS 18 CAN 28 ( 33 8 43 H 58 X 688 h 78 X
09 HT (19 EM 29 ) 3 9 49 | 59 Y 69 | 9y
oA LF 1A SUB 2a * 3A |- EY.NN 5A | Z 6A ] Az
o8B VT 1B ESC 2B + 3B B8 K 58 [ 88k B {
oc FF 1c FS 2¢ |, I < ac L 5¢ |\ 68C | 7c |
oo CR 1D GBS 20 - 3D = D M 50 ] 80 m m }
o0E SO 1€ RS 2 . 3E > 4 N 5E |A BE N 7E |~
oF Sl F US 2r |/ 3F 72 F O 5F 6F 0 7F  DEL



